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unindexed foreign keys

drop table usef child;
drop table usef parent;

create table usef_parent(a number primary key,b number unique);
create table usef_child(c number,b_fk ,CONSTRAINT b FOREIGN KEY (b_fk) REFERENCES
usef _parent(b) ON DELETE CASCADE);

begin

foriin 1..10 loop

insert into usef_parent values(i+1,i+1);
commit;

end loop;

end;

insert into usef_parent values(10,10); commit;
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Session 1: Session 2:

delete usef_parent where a=10
1 rows deleted(without commit);

delete usef_parent where a=6
waite....
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select sid, sql_text from vSsession s, vSsgl g where sid in (select sid from vSsession where state in ('"WAITING')
and wait_class !="Idle' and event='enq: TM - contention' and (q.sql_id = s.sql_id or g.sql_id = s.prev_sql_id));
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SID SQL_TEXT
129 |begin :id := sys.dbms_transaction.local_transaction_id; end;

129 |delete usef_parent where a=6
select blocking_session, sid, serial#, wait_class, seconds_in_wait from vSsession where blocking_session is
not NULL order by blocking_session;

BLOCKING_SESSION |SID SERIAL# WAIT_CLASS [SECONDS_IN_WAIT
99 129 14 Application (814
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Session 1: Session 2:

delete usef child where b_fk=2
1 rows deleted(without commit);

delete usef parent where a=10
waite....
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create index usef_fk1 on USEF_CHILD(B_FK);

Session 1: Session 2:

delete usef_child where b_fk=2
1 rows deleted(without commit);

delete usef_parent where a=10
1 rows deleted;
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ALTER TABLE usef_child DISABLE TABLE LOCK;
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Session 1:

Session 2:

delete usef_child where b_fk=2
1 rows deleted(without commit);

delete usef_parent where a=10
1 rows deleted;
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alter system set dml_locks=0 scope=spfile;

Session 1:

Session 2:

delete usef child where b_fk=2;
(without commit)

delete usef parent where a=10;
ORA-00062: DML full table lock cannot be acquired;
DML_LOCKS is 0

direct load insert

create table usef(a number,b number );

begin

foriin 1..10 loop

insert into usef values(i+1,i+1);
commit;
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end loop;
end;
Session 1: Session 2:
insert /*+ APPEND */ into usef select * from
usef;

10 rows inserted(without commit);

insert /*+ APPEND */ into usef select * from
usef;
wait....
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